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A-252 (AC)
B.A./B.Sc. (Hons.) (Geography)
(Part-II) Examination, 2023
ECONOMICS
Paper - I (B)

(Applications of Mathematics in Economics)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

M —

Note —

M —

Note —

M —

2 marks.

(@us—3) 3k : 2 x 10 = 20)
Tt T/ e & S ST (SW-EHE 50 I=8) | Yo WY 2 3 T §|
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.n

(Tus-a) (3f&® : 7 x 5 = 35)
i UTe gl % St SNT) Yo Wed H faed @ wEe Sifeg (STR-EE
200 I15) | TAF TIH 7 b HI

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tue-w) (3 : 15 x 3 = 45)
o= | § fegl 9 gv & St SifST (SW-Hm 500 Is) | Yosh 99 15 37
Ealk
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Section—-A
(TUs-3)
. (@ Zero Sum Game
= AN wa
(i1))  Utility Function
EXEIR GG
(i11)  Vector
BIE
(iv) Linear Homogeneous Function
T g8 weld
(v) If Q = AL* KP (where L = Labour, K = Capital, Q = Production).
Calculate MR.
gt Q = AL*KP (S L = 9m, K = §sft, Q = Scure) | g S sirsu |
(vi) Find the investment multiplier, if MPC = 0.5

afe MPC = 0.5 ¥, @ fas1 7o == g 2

4
(vii) L 4x° dx find the value.

L44x3 dx 1 A @ HIFSC
(viii) Hawkins-Simon Condition
elfeha-ge I
(ix) MRTS
AT Tehmtehl Fiaeera <X

(x)  Budget Constraint
ERCARIRCED)
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Section-B
('@'UE'—EI')

2

If P, =36 - x* and P = 6+%, then calculate Consumer Surplus.

2

ﬁPd:36—£ﬁRPS:6+%,wwﬁwaﬁwaﬁaﬁml

Or
(3eram)

Derive Slutsky equation for Two Commodity Case.

T IRgel & fafq § wewnt e &1 feau it

Discuss the properties of a well behaved production function.

T 3= SEA Held &1 fagioan. smsy |

Or
(3=
Verify Euler’s theorem for :
z=ax® + 2hxy + by2
= %o § AEeR YHE Hetaa it
z=ax® + 2hxy + by2
Solve the following differential equation :
I+x)yde+(1-»)xdy=0
=1 sTaheT HIRIU il & HifST

I+x)yde+(1-y»)xdy=0
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Or
(Irgam)
Explain Mathematically, the Hicks Trade Cycle Model.
oo & SR = Hied & TORE SAmedl it |
5. Find the solution and saddle point :
A’s Pay off

B’s Strategies

A’s Strategies 1 2 3 4 5
1 5 7 10 4 3
2 8 9 7 6 7
3 4 10 7 5 9
4 9 6 4 5 3

T H 7 qq Fea foag A@ HIGQ

A & T AR
B & TuTifaAt
A I Uit 1 2 3 4 5
1 5 7 10 4 3
2 8 9 7 6 7
3 4 10 7 5 9
4 9 6 4 5 3
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Or
(3teram)

Explain with examples the difference at primal and dual problem in linear

programming.

W g | yigfie iR g9 9 1 SR SqTelul Higd §disy |
6. Write a brief note on Closed Input-Output Model.

I I-UST Hed R Hika feoh fafe |

Or
(3Tera)
Solve :
sl z#‘rﬁmz :
(1) AB
(i) BA
1 3
1 -2 3
2 2 -1
3 -1
Section—-C
(@ues-—J)

7.  Discuss the properties of C.E.S. Production Function.

C.E.S. SR %o &1 fagomnd s |

8. QGiven :
0.1 0.3 0.1
A=0 02 02
0 0 03

and final demands are F|, F, and F,. Find the output levels consistent with the

model. What will be the output levels if F, = 20, F, = 0 and F; = 100 ?
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0.1 0.3 0.1
A=0 02 02
0 0 03

R st " F |, F, 3R F, &1 Aiea 1 €ad el S@ed &Rl 6 B | 4
F, =20, F, =03 F, = 100 & @ St9ed &R 1 €T 2

9. Explain Cobweb Model.
Higod A I THSET |

10. Solve the following linear programming problem graphically :

Maximize : n© = 40x; + 50x,
Subject to : 2x, + 6x, < 36
Sx; + 3x, < 30
8x; + 2x, < 40
x, % 2 0

= T YR §EEn 1 UTE ER B HIfU

sAfehad HIT n = 40x; + 50x,
gfdere 2x, + 6x, < 36
Sx; + 3x, < 30
8x, + 2x, < 40
x, % 2 0
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11. 1IfQ, =950 - 2P_+ 0.02 M and P_= 25 and M = 10000, find :
(1) Price FElasticity of Demand
(i1)) Income FElasticity of Demand
afe Q, = 950 — 2P_+ 0.02 M @& P_ = 25 3R M = 10000 &= 2, @t = shifer
() AT = A

(i) = F omE A=
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